Fourie— C’Oe’gg ieleuts

) Pﬂ«"lacj T
Simnt ,cos wt | n=/23..

v o o m#n
f.TCosm‘f‘ wsrd‘ol.(,sgn- il m-
/\TrSh;tm‘i‘S,;,n-l—J,{;: {0 1{ m-#1
R o /{ "

T
[ Sinwmb cos pt /4 = O
-

Femdpmedtal p,e—"lbcj 2L
nort n=/JZ/3’...

. nrt
S = )T,

L :
mﬂ‘%‘ VITl“l" = o 4 mfh
f-[__cosrwsf% {L_ Af m=h
f:s"‘m%{—'sfa”%%= 50 /{2{ m
) ~ A m=n
" nTr _
fﬁmmﬁ’l’-wstoé% = 0
Now W we ot 4 ""\d ’/0 Uur}éc wM"{'\ '7£/{‘)
Which me asume /Zo o dle w P perad 2L)
AJQ%JZ&"nesm@/%/w wi¥h MMWJ%L

=
&)= 2o n‘ﬂ'{? - AT
&) z +,§ B frj”‘g 2





